Given the plant , P(s) = 
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, a proportional and integral (PI) controller 

G(s)  = 
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 is to be designed to achieve the following specifications:

i) zero steady state error for step input disturbances,

ii) 
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iii) 
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a) Using G1= k/s , to satisfy specification (i), select k to satisfy the specification (ii) using the inverse Nichols chart.

b) Now design the controller zero, 
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to satisfy the specification (iii). The objective here is to show your understanding rather than obtain a high precision result. Sketch the final design on the inverse Nichols chart.
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